Nominal GDP = Total Value Added: Example

What happens in the economy:

Coal mine


 makes coal from miners’ labor

Electric Power Company


 makes electricity from utility workers’ labor and coal

Electricity Distribution Company


buys electricity from Power Company,


operates distribution system and sells power to households. 

Final product, nominal GDP:


 electricity sold to households $1000m

Intermediate products, not part of nominal GDP:


coal


electricity sold to Distribution Company

Nominal GDP = Total Value Added: Example (cont.)

Coal mine VA 



= 400m revenue



    - 0 purchased nonlabor inputs



= 400m VA


Electric Power Company VA



 = 900m revenue



     - 400m purchased nonlabor inputs (coal)




= 500m VA

Electricity Distribution Company VA



= 1000m revenue



    - 900m purchased nonlabor inputs (electricity)



= 100m VA

Total VA = 400m + 500m + 100m = 1000m GDP


